A RS0 ot

H:C0I0| MOIH gt

Chol XIS M EIBIA Al S5 (S 5e)

SA - ZH . S(EA) - HBAY - BES Off At oM J|HH Hnz2
15,693, 143 12,869,781 2,823,362
—— = 623,000 623,000 0
o 6,250,000 6,250,000 0
< 8,820, 143 5,996,781 2,823,362
12,723,388 10,226,006 2,497,382
Colol aolm Al = 623,000 623,000 0
7 3,750,000 3,750,000 0
< 8,350,388 5,853,006 2,497,382
11,998,332 9,497,200 2,501,132
XA MEI|BIAIL &5 7 3,750,000 3,750,000 0
< 8,248,332 5,747,200 2,501,132
SENENERE 5,748,332 5,747,200 1,132
201 Ypre oy 1,050 1,200 A150
01 ARzl 1,050 1,200 150
OAES HFAOSY 22 1,050 1,200 A150
202 01H| 7,282 6,000 1,282
01 2ol 7,282 6,000 1,282
OXIHY sorm2 & =t 1,282 0 1,282
6,250,000 3,750,000 2,500,000
AETSSH AL(2D) = 3,750,000 3,750,000 0
< 2,500,000 0 2,500,000
6,250,000 3,750,000 2,500,000
403 RXISHSAH=0|& 7 3,750,000 3,750,000 0
< 2,500,000 0 2,500,000
01 XXISHHR=EE 6,250,000 3,750,000 2,500,000
OAES SLAY 6,250,000 3,750,000 2,500,000
o 3,750,000 3,750,000 0
< 2,500,000 0 2,500,000
708,950 708,606 344
UHN Y AT O = 623,000 623,000 0
[ 85,950 85,606 344
TUf @R SoEx 15,950 16,000 A50
201 Ypre oy 7,950 8,000 A50
01 ARzl 7,950 8,000 A50
O SOHEH R23oF AXE 870 1,000 A130
o235 AKX g 5,210 6,000 ATH0
oslol2Y=SE HXPY 870 1,000 A130
OZUY Sot2z|g 227 1,000 0 1,000
693,000 692,606 304
JIEY FHAY FHY|(2D) = 623,000 623,000 0
[ 70,000 69,606 394
693,000 692,606 304
403 KHXISHHIS RH2 01 & i 620,000 02,000 0

[ 70,000

69,606 304
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= A

NPt

HE: ool MOIF S ]

Cho iEH N AE (S 5e)
S - B GA(BH) - NRAY - B2 Ofl & ot 1= HRE2

01 AXSHREEE 693,000 692,606 304

oA FHIY HUIALY 693,000 692,606 394

2 623,000 623,000 0

= 70,000 69,606 304

ANEE NS S 16,106 20,200 A4,094

FE0I2 S0P FEXD S SFMLY =& 16,106 20,200 A4,094

201 LEH2Ed| 8,206 11,100 N2,8%4

01 AtR2eltl 8,206 11,100 A2,8%4

OLHTEN LB (+T2) 2,600 3,000 A400

OLFTEAH BT F= 2,388 6,000 £3,612

OgdAAS A& 1,820 2,100 A 280

0207 slo2y 25 7 1,398 0 1,398

202 0l 6,080 7,000 A920

01 =Uhoib] 6,080 7,000 A920

OLNZEAHE =E2EH 2 6,080 7,000 A920

01 LB EHT 1,820 2,100 A280

10 BARHIEAS 1,820 2,100 A280

OgNRAA RAJ AHIBL 1,820 2,100 2280

2,954,110 2,617,400 336,710

HEotL OtEL2 KNLEE fas 2,500,000 2,500,000 0

= 454,110 117,400 336,710

2,954,110 2,617,400 336,710

AJEES NHOHSD| 2 2,500,000 2,500,000 0

= 454,110 17,400 33,710

OIS 3SH 245 =7 404,110 117,400 286,710

201 g2yl 28,010 1,300 16,710

o1 AlRRElY| 28,010 11,300 16,710

OFAIIZEE2 OISR 8%3 29 1,830 1,300 530

OF&IIEES OS] HEE 8,680 10,000 21,320

OHAINFS 012 T 2,300 0 2,300

OHAINES 0I2IIPI| AR 22t 9,000 0 9,000

OAIZSNABSI| 2IITh3 HAAT 1,200 0 1,200

OHLIIZS OIS B 5,000 0 5,000

308 XXM SOIA 370,000 100,000 270,000

01 RXEHBHEEZ 370,000 100,000 270,000

OFMIIEEZ US| =0t N & 370,000 100,000 270,000

1,550,000 1,500,000 50,000

aJEeNAS)| N (2D) 2 1,500,000 1,500,000 0

= 50,000 0 50,000

308 XHXIEHHI SOl 50,000 0 50,000

01 XXSHBARES 50,000 0 50,000

O&JIE2NHEET] 2Otz 50,000 0 50,000

HYE2H A (KSIHL D) 15,645 26,375 A 10,730
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SA RS0 ot

(EESBE ESkel NPRNOL= (B S-S

ol AD|ZES XSS (B9 82)
S HH G (3A) - NRAY - BAS Ofl &k o4 Bl HRs2

JlZ2&d| 15,645 26,375 210,730

Jl23&4l 15,645 26,375 10,730

201 2 11,137 17,735 6,598

01 AtR2eldl 11,137 17,735 26,598

ORNM2Y AIR2teltl 11,137 17,735 26,598

202 01t 4,508 8,640 £4,132

01 =UHoiHI 4,508 8,640 14,132

2A2E =UHObI 4,508 8,640 A4,132
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